
CUSTOMER SERVICE
877.370.3604 (toll free)

INSTALLATION QUESTIONS
techsupport@kuryakyn.com

or call 715.247.2983

LIMITED WARRANTY
Küryakyn warrants that any Küryakyn products sold 
hereunder, shall be free of defects in materials and 
workmanship for a period of one (1) year from the 

date of purchase by the consumer excepting the 
following provisions:

 
• Küryakyn shall have no obligation in the event 

the customer is unable to provide a receipt showing 
the date the customer purchased the product(s). 

• The product must be properly installed, 
maintained and operated under normal conditions. 

• Küryakyn makes no warranty, expressed or 
implied, with respect to any gold plated products. 

• Küryakyn shall not be liable for any consequential 
and incidental damages, including labor and 

paint, resulting from failure of a Küryakyn product, 
failure to deliver, delay in delivery, delivery in non-

conforming condition, or for any breech of contract 
or duty between Küryakyn and a customer.  

• Küryakyn products are often intended for use 
in specific applications. Küryakyn makes no 

warranty if a Küryakyn product is used in 
applications other than intended. 

• Küryakyn electrical products are warranted for 
one (1) year from the date of purchase by the con-

sumer. Components of Küryakyn products containing 
L.E.D.s will be warranted for defects in materials and 
workmanship for 3 years from the date of purchase. 

• Küryakyn makes no warranty of any kind in 
regard to other manufacturer’s products distributed 

by Küryakyn. Küryakyn will pass on all warranties 
made by the manufacturer and where possible, will 

expedite the claim on behalf of the customer, 
but ultimately, responsibility for disposition of the 

warranty claim lies with the manufacturer. 

ABOUT OUR CATALOG

 

INSTALLATION

	 PartS Included
		  1		 Horn Bracket Assembly
		  1		 Main Wiring Harness
		  1		 Hardware Kit Including:
				    1	 Air Line Relocation Bracket
				    1	 Air Line Hose
				    4	 18" 8mm i.d. Sheathing
				    10	 Cable Ties
				    2	 Dielectric Grease Packets
				    1	 Y-Harness
				    2	 Shim Washers
				    2	 5/16-18 x 1” Hex Head Cap Screws (HHCS)
				    2	 5/16” Split Lock Washers
		  1		 Installation Instructions

Please read and understand entire instructions before starting installation.

Thank you for choosing Küryakyn!

In order to protect you and others from possible injury 
and/or property damage or loss, please pay close attention 
to all instructions, warnings, cautions and attention notes 
regarding the use and care of this product.

WARNING!		 THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE 
CONTENTS DESCRIBED HEREIN CAN RESULT IN POTENTIAL DEATH OR 
SERIOUS INJURY.

ATTENTION!	This indication alerts you to the fact that ignoring the contents described 
herein may negatively affect product performance and functionality.

Tools Suggested
Set of hex wrenches, combination wrenches, socket set and ratchet.

Strictly observe the following guidelines in order to use the 
product properly and avoid potentially dangerous accidents.

Note There are two different mounting options, please refer to the appropriate
mounting section for your situation.

Mounting Procedure for Motorcycles without
H-D Detachable Docking Kits or Rear Detachable
Docking Kit only
STEP 1		  Read and understand all steps in the instructions before starting the installation
Park the motorcycle on a hard, level surface; turn off the ignition and allow the engine to
cool.

Fits: ’93-up Electra glides, Road Kings, Road Glides, Street Glides 
with or without Detachable Hardware

7740-12HD-0809

Hidden Horns for Detachables	 7740

-cont.-



INSTALLATION

WARNING!		 YOU WILL BE WORKING AROUND THE ENGINE AND EXHAUST SYSTEM DURING
INSTALLATION. ENSURE THAT THE ENGINE AND EXHAUST SYSTEM HAVE FULLY COOLED TO
PREVENT INJURY.

STEP 2		  Remove the right saddlebag from the motorcycle and set on a soft, clean
and stable surface.

STEP 3		  Make note of the position of the rear bracket and remove the screw that
secures the bracket as shown in PIC. 1.

STEP 4		  Place the horn bracket assembly on the saddlebag support bracket so that 
the alignment tab on the backside of the horn bracket sits in the square hole shown in 
PIC. 1; reinstall the rear bracket and hardware to secure the top of the horn bracket as 
shown in PIC. 2.

STEP 5		  Place a shim washer behind the lower bracket mounting hole and 
insert the 5/16-18 x 1” HHCS screw and 5/16” lock washer to secure the 
bracket as shown in PIC. 2.

Note: For motorcycles with rear detachable docking kit the spacer 
is not used; remove the screw securing the lower portion of the rear 
docking kit, place the horn bracket over the lower mounting hole and 
secure with the included screw and lock washer.
  
STEP 6		  Loosen the screws that secure the clamps around 
the horns (PIC. 2) 

WARNING!		 Rotate the horns to achieve
clearance with all moving and non-moving parts (fender,
shock, wheel, brake rotor/caliper, etc.)

WARNING!	check  for clearance with the suspension in both
the compressed and uncompressed positions; once clearance
has been achieved in all positions, tighten the clamps securing the horns.

STEP 7		  Proceed to the wiring section of the instructions.

Mounting Procedure for Front and rear 
quick detachable docking kits or Front Only 
Quick Detachable Docking Kits

STEP 1		  Read and understand all steps in the instructions 
before starting the installation. Park the motorcycle on a hard, 
level surface; turn off the ignition and allow the engine to cool.

WARNING! YOU WILL BE WORKING AROUND THE ENGINE 
AND EXHAUST SYSTEM DURING INSTALLATION. 
ENSURE THAT THE ENGINE AND EXHAUST SYSTEM HAVE 
FULLY COOLED TO PREVENT INJURY.

STEP 2		  Remove the right saddlebag from the motorcycle and set on a soft, 
clean and stable surface.

STEP 3		  Make note of the position of the rear bracket and 
remove the screw that secures the bracket as shown in PIC. 1; set the bracket and screw aside to 
reinstall, the spacer on the backside will not be used again.

STEP 4		  Remove the screw and nut that secure the support arm to the mounting 
bracket as shown in PIC. 1. 

-cont.-

Page

2
h idden      h orns  

PIC. 1

PIC. 2

Remove the 
screw securing 

the rear-
mounting 
bracket 

Alignment tab 
on bracket sits 
in the square 

hole 

Loosen the 
clamp screws 
to rotate the 

horns 
(STEP 16)

Place a shim 
washer behind the 

bracket; secure 
with the HHCS and 

lock washer 
(STEP 5)

Reinstall the 
rear bracket 

and mounting 
hardware

STEP (4)

PIC. 1

Removing the 
mounting screw 

(STEP 4)

Bikes with rear 
detachable 

remove 
this screw (STEP 8)

Alignment tab on 
bracket sits in the 
square hole (STEP 

9) 

Remove these 
screws (STEP 5)

Remove the screw 
and bracket (STEP 

3)



INSTALLATION

Note Some motorcycles may have one or two air fittings located on this bracket. Remove these 
fittings by removing the caps and the jam nuts securing the fittings.

STEP 5		  Remove the two screws that secure the mounting bracket as shown in PIC. 1.

STEP 6		  Install the included air line relocation bracket, starting the two screws 
that were removed in STEP 5.

Note Bikes that do not have the rear detachable hardware will need to reuse the 
spacers that were behind the mounting bracket.

STEP 7		  Reinstall the screw and arm (removed in STEP 4), securing to the new 
airline relocation bracket.

Note For motorcycles with air line fittings on the right side, reinstall one fitting, jam nut 
in the air line relocation bracket as shown in PIC. 2. Motorcycles with two fittings will need to 
relocate one of the fittings to the left side bracket. We have included a longer piece of air line 
hose to relocate the fitting to the left side. The red connections on the shocks and fittings are 
quick-disconnect by pressing on the red tab. (PIC. 4) You will need to refill the air suspension after 
replacing the airline.

STEP 8		  Remove the screw that secures the lower portion of rear 
docking kit as shown in PIC. 1.

Note Bikes without rear detachable hardware will not need to perform 
STEP 8.

STEP 9		  Install the horn bracket assembly so that the top mounting 
hole is behind the air line bracket as shown in PIC. 2 and the alignment tab on 
the backside of the bracket sits in the square hole shown in PIC. 1.
 
STEP 10	 Secure the top of the horn bracket with rear bracket and 
screw that were removed in STEP 3. (See PIC. 3)

STEP 11	 Insert the 5/16-18 x 1” HHCS screw and 5/16” lock washer to 
secure the lower portion of the horn bracket as shown in PIC. 3; tighten the 
screw. 

Note Bikes without rear detachable hardware will need to place a shim washer from the hardware 
kit behind the lower mounting hole in the horn bracket.

STEP 12	 Tighten the screws securing the airline relocation bracket installed in STEP 
7.

STEP 13	 Loosen the screws that secure the clamps around the horns (PIC.3);

WARNING!		 Rotate the horns to achieve
clearance with all moving and non-moving parts (fender,
shock, wheel, brake rotor/caliper, etc.)

WARNING!	check  for clearance with the suspension in both
the compressed and uncompressed positions; once clearance
has been achieved in all positions, tighten the clamps securing the
horns.

STEP 14	 Proceed to the wiring section of the instructions. Page

3
h idden      h orns  

PIC. 2

Horn mounting 
bracket behind 

the air line 
relocation 

bracket

PIC. 4 Optional step to 
relocate air line 

fittings

Press on the tab 
to release the 

airline

PIC. 3

Loosen the 
clamp screws 
to rotate the 

horns (STEP 11)

Secure 
with 5/16” 
HHCS and 

5/16” lock 
washer

Reinstall the 
rear bracket 

and screw (STEP 
10)

-cont.-



INSTALLATION

Wiring Procedure
Attention!  When routing the wiring harness, be sure to keep the wiring 
away from any moving parts, pinch points or extreme heat. Küryakyn WILL 
NOT warranty any electrical component that fails due to pinched, crimped, 
broken, abraded, melted or frayed wires.

STEP 1		  Remove the seat from the motorcycle.

STEP 2		 Route the long red and black leads from the wiring harness behind 
the strut.  Connect the two red leads from the Hidden Horns to the two red 
leads from the wiring harness. See PIC. 1.

Attention!	Küryakyn recommends the use of dielectric grease on electrical 
connections. 

STEP 3	Connect the two black leads from the Hidden Horns to the two black leads from the wiring 
harness. See PIC. 1.

Note You may choose to route the wiring through the included sheathing to help 
protect the wires.

STEP 3		 Route the wiring harness along the frame tubes toward the battery. 
See PIC. 2.

STEP 4		 Pass the black sheathed lead through a hole in the frame or other location free 
of pinch points, moving parts or extreme heat. See PIC. 3. 

STEP 5		 Connect the black, sheathed lead to the female terminal of the 
“Y” connector. See PIC. 4.

STEP 6		 Connect the male terminal from the “Y” connector to the power lead 
from the stock horn. See PIC. 4.

STEP 7		 Connect the other female terminal of the “Y” connector to the male 
terminal of the stock horn. See PIC. 4.

STEP 8		 Reconnect the battery; connect the red lead with a fork connector from the 
Hidden Horns harness to the positive terminal of the battery, the black lead with a fork 
connector to the negative terminal.  

STEP 9		 Turn on ignition and test for proper operation.

STEP 10	 Secure the remaining length of the wiring harness in the frame recess 
forward of the battery box. See PIC. 5.

STEP 11	 Secure wiring up and out of the way of pinch points, moving parts 
and extreme heat using the included cable ties. 

STEP 12	 Reinstall the seat and saddlebag and ensure that all fasteners have been retightened.

Note If the saddlebag does not align very well, you can remove the front mounting bracket, place 
the included shim washer behind it and secure with the 5/16" HHCS and 5/16" lock washer.

ATTENTION!	It is the installer’s responsibility to ensure that all of the fasteners 
(including pre-assembled) are tightened before operation of the motorcycle. Küryakyn will not 
warranty components lost due to improper installation. 
Periodic maintenance may be required.

Optional Installation	
You can bypass your stock horn by removing the included “Y” connector from the installation.  
Disconnect the power lead from the stock horn; connect the black, sheathed lead to the power lead 
from the stock horn. See PIC. 6. This allows for removal of the stock horn.

Page

4

PIC. 2

from hidden horns 
mounting location

PIC. 4

“y” connector

female 
terminal

black 
sheathed 

leadmale 
terminalfemale 

terminal
stock 
horn

male terminal 
on stock horn

yellow and black 
power lead

PIC. 3

hole shown is 
located under-

neath the front of 
the seat forward 

of the battery 
tray on the left 
side of the bike

PIC. 1

leads from 
hidden horns

route leads from 
the harness behind 

the strut

h idden      h orns  



INSTALLATION

PIC. 5

PIC. 6

the stock horn shown has been 
removed from the bike for clarity

power lead connec-
tor from stock horn

black, sheathed lead 
from hidden horns 

wiring harness

h idden      h orns  

Page

5


